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QUADRATIC EQUATION
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ROOTS OF QUADRATIC EQUATIONS
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Which of the following equations has 2 as a root?
(A)x*—4x+5=0 (B) X+ 3x-12=0
\@M—?x+6={} (D)3x*-6x-2=0

(A1) @)-4(2) +5 = y-4+5 #o
(8) (o?)g+3/>?)_/;; = Y+ b -3 Fo
() AN*-3(3) +6 = E=1V+6 =0,
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Ifa 1s a root thhaequatinnxz+kx—%={], then the value of k 1s
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DISCRIMINANT
Q1+ e+ = 0
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NATURE OF ROOTS
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Values of k for which the quadratic equation 2x*- kx + k = 0 has equal roots is

(A) Oonly (B) 4 (C) 8 only 9 0,8
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d = 4
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Which of the following equations has no real roots?

(A) ¥ —4x+ 32 =0 (B) 2 +4x - 32 =0

(C)x>—4x— 343 =0 (D)3 + 43x+4=0

No vea/ vovle = D <0

M(f ) —yn/x3iq = b - 1a = . /a?/vj /g-/9</

() (W)= 9xx-833 = BFRIE 70,
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RELATIONSHIP BETWEEN COEFFICIENTS AND ROOTS

ax’+ br+ ¢ = 0
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Which of the following equations has the sum of its roots as 37

(A) 2= 3x + 6 =0 9-x2+3x-3=0
S
(C) V2x - prtl =0 (D) 3= 3x+3 =0
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If the product of the roots of the equation
mx? + 6x + (2m —1) =0 is — 1, then the value of m is

(@) m=— (b m=— (c)m:§ (dym =2
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FORMING QUADRATIC EQUATION FROM ROOTS
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MAXIMUM & MINIMUM VALUE
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Q)If r and s are roots of x* + px + ¢ = 0,then what is the

value of (1/7%) + (1/s%)?
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Q)If r and s are roots of x* + px + ¢ = 0,then what is the
value of (1/r?) + (1/5%)?

p’ - 4q
(b) >

2 2
—4 — 2
(C) P . q (d) P 5 q
q q

(a) p°-4q
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What is the number of real roots of the
equation (x - 1)2 + (x~3)2 +(x- 52 =02 (PYQ-NDA22024)

N —

(a) Nnne/ y X
(b) Only one (Z "‘2“’) + [Z —*él‘f“f)—f (zz_. /sz-Zj‘) )
fc) Only two 3 7 2
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EXAMS

What i1s the number of real roots of the
equation (x - 1)2 + (x~3)2 + (x - 52 = 02 (PYQ-NDA22024)

(a) None
(b) Only one
fc) Only two

{di Three

Ans: A
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